TABULATION OF BIDS ITB 15-0631 / Agriculture Chemicals

Opened: September 1, 2015 Contracting Officer: D. Villinis

									,			
		Š	Product	Crop Production Services	:	FISC	FIS Outdoor		Ι	elena Ch	Helena Chemical Co.	
			Mulberry,	η, R.		Mānn	Minneola, FL		:	Mt. Dora, Fl)면, FL	
			i.					100	4 4 2		Š	
2-4-D AMINE (AQUATIC LABEL) (41b) - GAL	2.5	\$	12.30	\$ 30.75	'5 \$	15.833	\$	39.583	\$	14.00		35.00
2-4-D AMINE (AQUATIC LABEL) (41b) - GAL	30	\$	12.30	\$ 369.00	٠ 0	16,167	\$	485.010	.\$	13,48	157	404.40
KODEO DOW AGRO SCIENCES- GAL - NO SUBSTITUTE	2.5	₩.	19.50	\$ 48.75	īυ 42	61.956	٠,	154.890	Ş	19.00	-Vi	47.50
RODEO DOW AGRO SCIENCES - GAL - NO SUBSTITUTE	8	5	19.30	"	 	20.171	┼	605.130	· •	18.50	• • • • • • • • • • • • • • • • • • •	555.00
GENERIC AQUATIC GLYPHOSATE - GAL	2.5	\$	15.26	\$ 38.15	-	22.841	1	57.103	\$	17.00	. \$	42.50
GENERIC AQUATIC GLYPHOSATE - GAL	93	\$	15.06	\$ 451.80	\$ 0	20.622	\$	618.660	\$	16.50	\$	495.00
ROUNDUP CUSTOM-NO SUBSTITUTE - GAL	2.5	\$	15.50	\$ 38.75	5 \$	19.454	\$	48.635	\$	17.00	÷	42.50
ROUNDUP CUSTOM-NO SUBSTITUTE - GAL	30	\$	15.30	\$ 459.00	\$.0	18.587	\$	557.610	\$	16.50	\$	495.00
AQUATHOL GRANULAR SUPER K - LB	25	\$	16.28	\$ 407.00	\$ 0	7.312	v	182.800	\$	16.50	w	412.50
AQUATHOL LIQUID - GAL	2.5	\$	63.20	\$ 158.00	\$ 0	29.582	\$	73.955	\$	66.00	\$	165.00
CLEARCAST SEPRO-GAL - NO SUBSTITUTE-CASE ONLY	Ţ	\$	253.10	\$ 253.10	\$ 0	306.813	43-	306.813	\$	253.10	٠ \$	253.10
CUTRINE PLUS-APPLIED BIOCHEMISTS - GAL	2.5	\$	14.90	\$ 37.25	5 5	23.604	\$	59.010	\$	21.95	\$	54.88
D-LIMONENE 100% - GAL	2.5	\$	16.00	\$ 40.00	\$ 0	20.659	\$	51.648	\$	16.48	w	41.20
DEFOAMER (10% OR GREATER) - PT	1	2	NB	NB	ş	5.602	\$	5.602	\$	6.44	\$	6.44
GALLEON BY SEPRO-NO SUBSTITUTE - GAL	2.5	(z \$	2,063.38	\$ 5,158.45	ις.	NB	2	NB	\$	537.38	\$	1,343.45
HABITAT BASF-NO SUBSTITUTE - GAL	2.5	\$	68.90	\$ 172.25	5 \$	86.971	\$	217.428	\$	95.00	\$	237.50
HYDROTHOL 191 GRANULAR - LB	40	\$	2.86	\$ 114.40	\$ 0	4.596	\$	183.840	\$	2.74	s	109.60
НҮРКОТНОІ 191 ШQUID - GAL	2.5	\$	64.90	\$ 162.25	\$ 8	74.593	₩	186.483	\$	63.02	\$	157.55
POLYMER (30% OR GREATER)-NON-FONIC (DRIFT) - GAL	ī	\$	26.60	\$ 26.60	\$	35.148	\$	35.148	\$	26.00	₩.	26.00
POLYMER (30% OR GREATER)-NON-IONIC (SINKING) - GAL	г	s	26.60	\$ 26.60	\$	35.148	ι _γ .	35.148	\$	29.00	\$	29.00
GENERIC AQUATIC GLYPHOSATE - GAL	2.5	₩	15.26	\$ 38.15	5	22.841	\$	57.103	₩.	18.50	\$	46.25
SONAR AS SEPRO-NO SUBSTITUTE - GAL	1	\$ 1,5	940.41	\$ 1,940.41	1 \$	825.913	\$	825.913	\$ 1,5	1,940.41	\$	1,940.41
RUBUNE (DIQUAT) - GAL	2.5	\$	39.78	\$ 99.45	\$ \$	130.059	\$	325.148	\$	39,48	ş	98 70
VEELESTROY AM-40 - GAL	2.5	\$	12.30	\$ 30.75	\$ 5	18.750	\$	46.875		14.00		25.00
LEWALD STOCKLA-NO SOBSTITUTE - GAE	2.5	\$	79.00	\$ 197.50	\$ 0	31.600	45	79.000		┿┈	, to	197.50
			7									
					•							

TABULATION OF BIDS ITB 15-0631 / Agriculture Chemicals Page Two

		John	Deere La	John Deere Landscapes		Red River Sp	Red River Specialties Inc.	•	Winfield Solutions	ld Soluti	ons
		1	Cleveland, OH	HO 1		Shreve	Shreveport, IA		Ap	Apopka, FL	
	200					Carle Paris	Table 1		Sea Prince	125,543	Edenion
2-4-D AMINE (AQUATIC LABEL) (4Ib) - GAL	2.5	\$	23.09	\$ 57.73	s	11.980	\$	29.950	\$ 13.50		33.75
2-4-D AMINE (AQUATIC LABEL) (41b) - GAL	OE	NB		NB	\$	11.980	\$ 326	359.400	\$ 13.50	\$ 0	405:00
RODEO DOW AGRO SCIENCES- GAL - NO SUBSTITUTE	2.5	NB.		NB NB	\$	19.110	\$ 47	47.775	\$ 19.50	\$	48.75
RODEO DOW AGRO SCIENCES - GAL - NO SUBSTITUTE	.08	NB NB		88	⋄	18.590	\$ 557	557.700	\$ 19.50		585.00
GENERIC AQUATIC GLYPHOSATE - GAL	2.5	\$	24.68	\$ 61.70	Ŷ	14,880	\$ 37	37.200	\$ 14.90	\$ 0	37.25
GENERIC AQUATIC GLYPHOSATE - GAL	Я	4	21.76	\$ 652.80	۰,	14.780	\$ 44	443.400	\$ 14.46	\$	433.80
ROUNDUP CUSTOM-NO SUBSTITUTE - GAL	2.5	NB	_	NB	ş	18.480	\$ 46	46.200	\$ 14.90	\$ 6	37.25
ROUNDUP CUSTOM-NO SUBSTITUTE - GAL	30	NB		NB BN	\$	18.280	3175 \$	548.400	\$ 14.46	\$ 5	433.80
AQUATHOL GRANULAR SUPER K - 1B	25	NB	_	8 <u>N</u>	\$	20.000	\$ 500	500.000	\$ 15.93	\$ \$	398.25
AQUATHOL LIQUID - GAL	2.5	\$	86.42	\$ 216.05	\$	75.000	\$ 187	187.500	\$ 61.55	\$ \$	153.88
CLEARCAST SEPRO-GAL-NO SUBSTITUTE-CASE ONLY	1	\$	325.05	\$ 325.05	\$	253.100	\$ 253	253.100	\$ 253.10	\$ 0	253.10
CUTRINE PLUS-APPLIED SIOCHEMISTS - GAL	2.5	S	23.89	\$ 59.73	\$	15.950	SE \$	39.875	\$ 21.00	\$ 0	52.50
D-LIMONENE 100% - GAL	. 2.5	NB		NB	\$	18.500	3 7 \$	46.250	\$ 16.50	\$ 0	41.25
DEFOAMER (10% OR GREATER) - PT	ы	ş	3.47	\$ 3.47	٠	8.250	\$ \$	8.250	NB		NB
GALLEON BY SEPRO-NO SUBSTITUTE - GAL	2.5	NB	40	88	L	NB BN	NB		\$ 2,063.38	\$ \$	5,158.45
HABITAT BASF-NO SUBSTITUTE - GAL	2.5	NB NB		2	ςş	92.000	\$ 23%	230.000	\$ 80.00	\$ 0	200.00
HYDROTHOL 191 GRANULAR - LB	64	8N	_	NB	s	3.750	\$ 150	150.000	\$ 2.80	\$ 0	112.00
HYDROTHOL 191 LIQUID - GAL	2.5	NB.		NB	\$	75.000	\$ 187	187.500	\$ 63.74	\$ ₽	159.35
POLYMER (30% OR GREATER)-NON-HONIC (DRIFT) - GAL	rel	٠,	14.85	\$ 14.85	\$	25.000	37 \$	25.000	\$ 24.00	\$	24.00
POLYMER (30% OR GREATER)-NON-HONIC (SINKING) - GAL	1	SB.		NB	Ş	25.000	\$	25.000	\$ 39.00	\$	39.00
GENERIC AQUATIC GLYPHOSATE - GAL	2.5	\$	24.68	\$ 61.70	٠ż٠	14.880	\$ 3.	37.200	\$ 14.90	ۍ د	37.25
SONAR AS SEPRO-NO SUBSTITUTE - GAL	ļ.	\$ 3,2	215.24	\$ 3,215.24	_	NB	NB		\$ 1,940.41	\$ 1	1,940.41
TRUBUNE (DIQUAT) - GAL	2.5	\$	47.45 \$	118.63	\$	43.900	50T \$	109.750	\$ 39.50	\$ (98.75
WEEDESTROY AM-40 - GAL	2.5	\$	23.09 \$	57.73	\$	11.980	\$	29.950	SN.	_	NB
REWARD SYGENTA-NO SUBSTITUTE - GAL	2.5	\$	\$ 00.62	197.50		NB	NB NB		\$ 79.00	\$	197.50
								-		 -	
										-	



CONTRACT NO. 15-0631A

Agriculture Chemicals (Herbicides, Turf, Ornamentals, Fertilizers)

LAKE COUNTY, FLORIDA, a political subdivision of the state of Florida, its successors and assigns through its Board of County Commissioners (hereinafter "County") does hereby accept, with noted modifications, if any, the bid of Crop Production Services Inc. (hereinafter "Contractor") to supply agriculture chemicals to the County pursuant to County Bid number 15-0631 (hereinafter "Bid"), Addendum number One, opening dated September 1, 2015, and Contractor's Bid response thereto with all County Bid provisions governing.

A copy of the Contractor's signed Bid is attached hereto and incorporated herein, thus making it a part of this Contract except that any items not awarded have been struck through. The attachments noted below (if any) are attached hereto and are also made a part of this Contract.

Attachments: None

No financial obligation under this contract shall accrue against the County until a specific purchase transaction is completed pursuant to the terms and conditions of this contract.

The County's Procurement Services Manager shall be the sole judge as to the fact of the fulfillment of this Contract, and upon any breach thereof, shall, at his or her option, declare this contract terminated, and for any loss or damage by reason of such breach, whether this Contract is terminated or not, said Contractor and their surety for any required bond shall be liable.

This Contract is effective from October 6, 2015 through September 30, 2016 except the County reserves the right to terminate this Contract immediately for cause and/or lack of funds and with thirty (30) day written notice for the convenience of the County. This Contract provides for four (4) one (1) year renewals at Lake County's sole option at the terms noted in the Bid.

Any and all modifications to this Contract must be in writing signed by the County's Procurement Services Manager.

LAKE COUNTY, FLORIDA	
By: Www.Senior Contracting Officer	
Senior Contracting Officer	_
Date:	

Distribution:



CONTRACT NO. 15-0631B

Agriculture Chemicals (Herbicides, Turf, Ornamentals, Fertilizers)

LAKE COUNTY, FLORIDA, a political subdivision of the state of Florida, its successors and assigns through its Board of County Commissioners (hereinafter "County") does hereby accept, with noted modifications, if any, the bid of FIS Outdoor (hereinafter "Contractor") to supply agriculture chemicals to the County pursuant to County Bid number 15-0631 (hereinafter "Bid"), Addendum number One, opening dated September 1, 2015, and Contractor's Bid response thereto with all County Bid provisions governing.

A copy of the Contractor's signed Bid is attached hereto and incorporated herein, thus making it a part of this Contract except that any items not awarded have been struck through. The attachments noted below (if any) are attached hereto and are also made a part of this Contract.

Attachments: None

No financial obligation under this contract shall accrue against the County until a specific purchase transaction is completed pursuant to the terms and conditions of this contract.

Contractor shall submit the documents hereinafter listed <u>prior to</u> commencement of this Contract: Insurance Certificate.

The County's Procurement Services Manager shall be the sole judge as to the fact of the fulfillment of this Contract, and upon any breach thereof, shall, at his or her option, declare this contract terminated, and for any loss or damage by reason of such breach, whether this Contract is terminated or not, said Contractor and their surety for any required bond shall be liable.

This Contract is effective from October 6, 2015 through September 30, 2016 except the County reserves the right to terminate this Contract immediately for cause and/or lack of funds and with thirty (30) day written notice for the convenience of the County. This Contract provides for four (4) one (1) year renewals at Lake County's sole option at the terms noted in the Bid.

Any and all modifications to this Contract must be in writing signed by the County's Procurement Services Manager.

LAKE COUNTY, FLORIDA
By: DJJJJ Senior Contracting Officer
Date:

Distribution: Original-Bid File Copy-Vendor Copy-Department



CONTRACT NO. 15-0631C

Agriculture Chemicals (Herbicides, Turf, Ornamentals, Fertilizers)

LAKE COUNTY, FLORIDA, a political subdivision of the state of Florida, its successors and assigns through its Board of County Commissioners (hereinafter "County") does hereby accept, with noted modifications, if any, the bid of Helena Chemical Co. (hereinafter "Contractor") to supply agriculture chemicals to the County pursuant to County Bid number 15-0631 (hereinafter "Bid"), Addendum number One, opening dated September 1, 2015, and Contractor's Bid response thereto with all County Bid provisions governing.

A copy of the Contractor's signed Bid is attached hereto and incorporated herein, thus making it a part of this Contract except that any items not awarded have been struck through. The attachments noted below (if any) are attached hereto and are also made a part of this Contract.

Attachments: None

No financial obligation under this contract shall accrue against the County until a specific purchase transaction is completed pursuant to the terms and conditions of this contract.

The County's Procurement Services Manager shall be the sole judge as to the fact of the fulfillment of this Contract, and upon any breach thereof, shall, at his or her option, declare this contract terminated, and for any loss or damage by reason of such breach, whether this Contract is terminated or not, said Contractor and their surety for any required bond shall be liable.

This Contract is effective from October 6, 2015 through September 30, 2016 except the County reserves the right to terminate this Contract immediately for cause and/or lack of funds and with thirty (30) day written notice for the convenience of the County. This Contract provides for four (4) one (1) year renewals at Lake County's sole option at the terms noted in the Bid.

Any and all modifications to this Contract must be in writing signed by the County's Procurement Services Manager.

		LAKE COUNTY, FLORIDA
		By:
		Date:
Distribution:	Original-Bid File	



MODIFICATION OF CONTRACT

1.	Modification No.: 1	2.	Contract No.: 15-0631D
	Effective Date: January 11, 2016		Effective Date: October 6, 2015
3.	Contracting Officer: D. Villinis Telephone Number: (352) 343-9765	5.	Contractor Name and Address:
4.	Issued By: Procurement Services Lake County Administration Building 315 W. Main St., Suite 441 Tavares, Florida 32778-7800		John Deere Landscapes 1385 East 36th Street Cleveland, OH 44114 Attn: Keith McGinty
6.	SPECIAL INSTRUCTIONS: Contractor is required to sign I and return this form to address shown in Block 4 within ten system of positive receipts. Retain a photocopy of the signed which was previously provided.	(10) c	lays after receipt, preferably by certified mail to ensure a
7.	DESCRIPTION OF MODIFICATION:		
	By notice received January 11, 2016, John Deere Landscap recognize a corporate name change to: SiteOne Landscape S 300 Colonial Center Pkwy, Ste 600, Roswell, GA, 30076. This	Supply	Holding, LLC, DBA SiteOne Landscape Supply, LLC
8.	Constactor Signature REQUIRED	9.	Lake County, Florida
	Name: Walk Worth		By: Dyluu
	Title: Sensor Bid Ref-		Senior Contracting Officer
	Date: 1 90 16		2-17-2016
-			Date
10.	Distribution:		*
	Original – Bid/Contract File Copies - Contractor Contracting Officer		

FISCAL AND ADMINISTRATIVE SERVICES/PROCUREMENT SERVICES
P.O. BOX 7800 • 315 W. MAIN ST., TAVARES, FL 32778 • P 352,343,9839 • F 352,343,9473

Board of County Commissioners • www.lakecountyfl.gov



CONTRACT NO. 15-0631D

Agriculture Chemicals (Herbicides, Turf, Ornamentals, Fertilizers)

LAKE COUNTY, FLORIDA, a political subdivision of the state of Florida, its successors and assigns through its Board of County Commissioners (hereinafter "County") does hereby accept, with noted modifications, if any, the bid of John Deere Landscapes (hereinafter "Contractor") to supply agriculture chemicals to the County pursuant to County Bid number 15-0631 (hereinafter "Bid"), Addendum number One, opening dated September 1, 2015, and Contractor's Bid response thereto with all County Bid provisions governing.

A copy of the Contractor's signed Bid is attached hereto and incorporated herein, thus making it a part of this Contract except that any items not awarded have been struck through. The attachments noted below (if any) are attached hereto and are also made a part of this Contract.

Attachments: None

No financial obligation under this contract shall accrue against the County until a specific purchase transaction is completed pursuant to the terms and conditions of this contract.

The County's Procurement Services Manager shall be the sole judge as to the fact of the fulfillment of this Contract, and upon any breach thereof, shall, at his or her option, declare this contract terminated, and for any loss or damage by reason of such breach, whether this Contract is terminated or not, said Contractor and their surety for any required bond shall be liable.

This Contract is effective from October 6, 2015 through September 30, 2016 except the County reserves the right to terminate this Contract immediately for cause and/or lack of funds and with thirty (30) day written notice for the convenience of the County. This Contract provides for four (4) one (1) year renewals at Lake County's sole option at the terms noted in the Bid.

Any and all modifications to this Contract must be in writing signed by the County's Procurement Services Manager.

LAKE COUNTY, FLORIDA
By: Dum Senior Contracting Officer
Senior Contracting Officer
Date:

Distribution:



CONTRACT NO. 15-0631E

Agriculture Chemicals (Herbicides, Turf, Ornamentals, Fertilizers)

LAKE COUNTY, FLORIDA, a political subdivision of the state of Florida, its successors and assigns through its Board of County Commissioners (hereinafter "County") does hereby accept, with noted modifications, if any, the bid of Red River Specialties, Inc. (hereinafter "Contractor") to supply agriculture chemicals to the County pursuant to County Bid number 15-0631 (hereinafter "Bid"), Addendum number One, opening dated September 1, 2015, and Contractor's Bid response thereto with all County Bid provisions governing.

A copy of the Contractor's signed Bid is attached hereto and incorporated herein, thus making it a part of this Contract except that any items not awarded have been struck through. The attachments noted below (if any) are attached hereto and are also made a part of this Contract.

Attachments: None

No financial obligation under this contract shall accrue against the County until a specific purchase transaction is completed pursuant to the terms and conditions of this contract.

The County's Procurement Services Manager shall be the sole judge as to the fact of the fulfillment of this Contract, and upon any breach thereof, shall, at his or her option, declare this contract terminated, and for any loss or damage by reason of such breach, whether this Contract is terminated or not, said Contractor and their surety for any required bond shall be liable.

This Contract is effective from October 6, 2015 through September 30, 2016 except the County reserves the right to terminate this Contract immediately for cause and/or lack of funds and with thirty (30) day written notice for the convenience of the County. This Contract provides for four (4) one (1) year renewals at Lake County's sole option at the terms noted in the Bid.

Any and all modifications to this Contract must be in writing signed by the County's Procurement Services Manager.

		LAKE COUNTY, FLORIDA
•		By: Druce Senior Contracting Officer
	·	Date:

Distribution:



CONTRACT NO. 15-0631F

Agriculture Chemicals (Herbicides, Turf, Ornamentals, Fertilizers)

LAKE COUNTY, FLORIDA, a political subdivision of the state of Florida, its successors and assigns through its Board of County Commissioners (hereinafter "County") does hereby accept, with noted modifications, if any, the bid of Winfield Solutions (hereinafter "Contractor") to supply agriculture chemicals to the County pursuant to County Bid number 15-0631 (hereinafter "Bid"), Addendum number One, opening dated September 1, 2015, and Contractor's Bid response thereto with all County Bid provisions governing.

A copy of the Contractor's signed Bid is attached hereto and incorporated herein, thus making it a part of this Contract except that any items not awarded have been struck through. The attachments noted below (if any) are attached hereto and are also made a part of this Contract.

Attachments: None

No financial obligation under this contract shall accrue against the County until a specific purchase transaction is completed pursuant to the terms and conditions of this contract.

Contractor shall submit the documents hereinafter listed <u>prior to</u> commencement of this Contract: Insurance Certificate.

The County's Procurement Services Manager shall be the sole judge as to the fact of the fulfillment of this Contract, and upon any breach thereof, shall, at his or her option, declare this contract terminated, and for any loss or damage by reason of such breach, whether this Contract is terminated or not, said Contractor and their surety for any required bond shall be liable.

This Contract is effective from October 6, 2015 through September 30, 2016 except the County reserves the right to terminate this Contract immediately for cause and/or lack of funds and with thirty (30) day written notice for the convenience of the County. This Contract provides for four (4) one (1) year renewals at Lake County's sole option at the terms noted in the Bid.

Any and all modifications to this Contract must be in writing signed by the County's Procurement Services Manager.

LAKE COUNTY, FLORIDA
By: Senior Contracting Officer
Date:

Distribution: